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sinx COSX
tanx=—— , cotx=—; , Cotx=
cosXx sin x tanx
sin"x+cos"x=1 , V+tan'x= : , V+cot' x= .
€OS X sin’ x
sin(ot+ B)=sinotcosPEcosasinf , sinYo=rYsinocosa
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Ie‘dx=e’+c
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Iu“u'dx = Iu“du = : =

+C
J.u'sin udx = Isin udu=-cosu+C
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J“{dx = Ln] u.| +C
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(a+b) =a"+vab+b" , (a-b)'=a’'—vab+b’

{a+h)"+(a-hf=~ra*+rh* ., (a+b)"—(a=b) =¥ab
(§+h)(a-h)=a"—hfl
(a-b)"=a"—va'b+vab'-b" , (a+b)"=a"+ra'b+vab'+b"
(x+a)(x+b)=x"+(a+b)x+ab
a' —b"=(a-b)a"+ab+b") , a"+b"=(a+b)a'—ab+b")

(a+b+c) =a' +b" +c"+rvab+Yac+ vbe

= |
a"+b"+c —rabc=(a+b+c)a’ +b"+c —ahwac—be}=;(a.+b+c}[(a-h}r+[a—cf+{h—c}fi
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